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Peer group interaction in a classroom helps in

(1) Concept understanding

(2) Realization of One's misunderstanding
(3) Rapport Building

(4) Questioning

Options:

645350102329 1
645350102340 2
645350102341 =
48350102242 4

Question Number : 1 Question Id : 64635026329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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645350102339 1
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645350102242 4

Question Number : 2 Question Id : 64635026330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the
following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

645350103342 1
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645350102243, 1
645350103244, 2
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Question Number : 3 Question Id : 64635026331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

6453501023247, 1
645350103248, 2
E4EZ50103349. =
E4EZ501023350.0 4
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Correct Marks: 2 Wrong Marks: 0
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6453501023247, 1
645350103248, 2
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E4E350103350. 4

Question Number : 4 Question Id : 64635026332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

645350102351 1
6453501023352 2
645350102353
645350102354 4

Question Number : 4 Question Id : 64635026332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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6453501033510 1
645350102352 2
645350102352
645350102354 4

Question Number : 5 Question Id : 64635026333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

645350103355, 1
645350103356, 2
E4E350103357. 2
EAEZ50103358. 4

Question Number : 5 Question Id : 64635026333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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645350102355 1
645350103356 2
646350102357 2
453501023258 4

Question Number : 6 Question Id : 64635026334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

645350102359, 1
E4E350103360. 2
645350103261, 2
45350103362 4

Question Number : 6 Question Id : 64635026334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350102359, 1
645350103360, 2
645350103361, 3
EAEZS0103362. 4

Question Number : 7 Question Id : 64635026335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350103363, 1
645350103364, 2
E4EZ50103365. 2
EAEZ50103366. 4

Question Number : 7 Question Id : 64635026335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E3501023363. 1
645350103364, 2
645350103365, 2
45350103366, 4

Question Number : 8 Question Id : 64635026336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

645350103367, 1
EAEZ50103368. 2
E4E3501033639. =
EAE350103270. 4

Question Number : 8 Question Id : 64635026336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E350103367. 1
EAE350103368. 2
6453501032639, =
645350103370, 4

Question Number : 9 Question Id : 64635026337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

645350102371 1
6453501023372 2
645350102373
645350102374 4

Question Number : 9 Question Id : 64635026337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350102371, 1
645350103372 2
645350103373 3
E4E350103374. 4

Question Number : 10 Question Id : 64635026338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

6453501023375, 1
645350103376, 2
645350103377, 3
EAEZ5010337E. 4

Question Number : 10 Question Id : 64635026338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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645350103375 1
645350102376 2
6453501023377 5
645350102378 4

Sub-Section Number: 2
Sub-Section 1d: 6463501293
Question Shuffling Allowed : Yes

Question Id : 64635026339 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635026340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E350103379. 1
EAEZ50103380. 2
E4E35010232381. =
645350103382, 4

Question Number : 12 Question Id : 64635026341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350103383 1
E4E350103384. 2
EAE350103385. 2
EAEZ501033586. 4

Question Number : 13 Question Id : 64635026342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

645350102387 1
645350102388 2
645350102389 2
645350102390 4

Question Number : 14 Question Id : 64635026343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4EZ5010232391. 1
EAEZ50103392. 2
6453501032393, 2
6453501033594, 4

Question Number : 15 Question Id : 64635026344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

645350103395 1
483501023296 2
45350102297, 5
645350102298 4
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Sub questions

Question Number : 11 Question Id : 64635026340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E3501023373. 1
E4E350103280. 2
6453501023281, 2
45350103382 4

Question Number : 12 Question Id : 64635026341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102383 1
483501023284 2
45350102285 =2
6453501023586, 4

Question Number : 13 Question Id : 64635026342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350102387 1
645350102388 2
645350102389 2
645350102390 4

Question Number : 14 Question Id : 64635026343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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E4EZ5010232391. 1
EAEZ50103392. 2
6453501032393, 2
6453501033594, 4
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Correct Marks: 2 Wrong Marks: 0
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648350102395 1
645350102396, 2
645350102397 5
645350102398 4

Sub-Section Number: 3
Sub-Section Id: 6463501294
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635026345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

6453501033939, 1
E4E350103400. 2
E4E3501023401. =
6453501023402, 4
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645350102399 1
648350102400 2
45350102401, =
645350102402 4

Question Number : 17 Question Id : 64635026346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
64250103403, 1

E4E350103404, 2
EAE3501023405. =
EAEZ501023406. 4

Question Number : 17 Question Id : 64635026346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Question Number : 18 Question Id : 64635026347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
6463501023407 1
E4E2350102408. 2
E4E32E01023409. =
422350103410, 4

Question Number : 18 Question Id : 64635026347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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6453501032407 1
E4E350102408 2
645350102409 5
645350102410 4

Question Number : 19 Question Id : 64635026348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage
(2) Intimate stage
(3) Personal stage

(4) Transcendental communication

Options:

645350103411, 1
645350102412 2
645350102412 =
645350102414 4

Question Number : 19 Question Id : 64635026348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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645350102411 1
645350102412 2
645350102413 =
648350102414 4

Question Number : 20 Question Id : 64635026349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

645350102415, 1
645350103416, 2
645350103417, 3
EAEZ50103418. 4



Question Number : 20 Question Id : 64635026349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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6453501023415 1
EAE350103416. 2
E4E3501023417. =
E4535010234158. 4

Question Number : 21 Question Id : 64635026350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

6453501024139, 1
645350103420 2
645350103421, 3
EAE350103422. 4

Question Number : 21 Question Id : 64635026350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

6453501023419, 1
EAEZ50103420. 2
E4E3501023421. =
EAE350103422. 4



Question Number : 22 Question Id : 64635026351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E3501023423. 1
EAE350103424. 2
645350103425 2
45350103426, 4

Question Number : 22 Question Id : 64635026351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102423 1
645350102424 2
648350102425 =
45350102426 4

Question Number : 23 Question Id : 64635026352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

645350103427, 1
EAEZ50103428. 2
EAE350103429. =



EAEZ501023420. 4

Question Number : 23 Question Id : 64635026352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

645350103427, 1
45350103428, 2
E4EZ50103429. =
EAE35010234230. 4

Question Number : 24 Question Id : 64635026353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

6453501023421 1
645350103432 2
E4E350103433. 2
EAE3501023434. 4

Question Number : 24 Question Id : 64635026353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2) 15km
@) 20 km (4) 40 km
Options:

6453501023421, 1
EAEZ50103432. 2
E4E3501023432. =
6453501023434 4

Question Number : 25 Question Id : 64635026354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350103435, 1
EAE350103436. 2
EAE350103437. =
EAE35010234358. 4

Question Number : 25 Question Id : 64635026354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw
g 27

(1) 12% (2) 10%
(3) 9% @) 8%

Options:

645350102435 1
645350102436 2
645350102437 =
483501024328 4

Question Number : 26 Question Id : 64635026355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
No Musicians are Japenese

All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E3501023439. 1
6453501023440, 2
645350102441, =
E4535010344Z 4

Question Number : 26 Question Id : 64635026355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

645350102439 1
E4E8350102440 2
45350102441 =
645350102442 4

Question Number : 27 Question Id : 64635026356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

645350103443 1
648350102444 2
645350102445 5
645350102446 4



Question Number : 27 Question Id : 64635026356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
645350103443 1

EAEZ50103444 2
E4E3501023445. =
6453501023446, 4

Question Number : 28 Question Id : 64635026357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E3501023447. 1
645350103448, 2
645350103445 =
6453501023450 4

Question Number : 28 Question Id : 64635026357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

648350102447 1
45350102448 2
645350102449 5
645350102450 4

Question Number : 29 Question Id : 64635026358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E3501023451. 1
EAE350103452. 2
6453501023453, =
645350103454 4

Question Number : 29 Question Id : 64635026358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
4 |1 THHE & 20 |
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
642350103451, 1

EAE350103452. 2
6453501023453, =
6453501023454 4

Question Number : 30 Question Id : 64635026359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350103455, 1
E4E350103456. 2
EAE350103457. =
E4E3501023458. 4

Question Number : 30 Question Id : 64635026359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

645350102455, 1
645350103456, 2
645350103457, 3
E4EZ50103458. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501295
Question Shuffling Allowed : Yes

Question Id : 64635026360 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635026361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E453501023459. 1
6453501023460, 2



E4E350103461. =
EAE350103462. 4

Question Number : 32 Question Id : 64635026362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E3501023463. 1
645350103464, 2
645350103465, 5
645350103466, 4

Question Number : 33 Question Id : 64635026363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% (2) 165%
(3) 177% 4) 182%

Options:

645350102467,
483501032468,
45350102469,
645350102470,

W ] D

Question Number : 34 Question Id : 64635026364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

6483501032471,
E4E350103472,

EAE35010247 3.
E4E350102474.

W LD

Question Number : 35 Question Id : 64635026365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

648350102475 1
45350102476 2
645350102477 5
645350102478 4

Question Id : 64635026360 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635026361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

645350102459 1
645350102460, 2
645350102461, =
48350102462 4

Question Number : 32 Question Id : 64635026362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

6453501032463 1
45350102464 2
645350102465 5
645350102466 4

Question Number : 33 Question Id : 64635026363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

645350102467 1
48350102468 2
45350102469 =2
645350102470, 4

Question Number : 34 Question Id : 64635026364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

645350102471 1
645350102472 2
6483501024732 =2
45350102474 4

Question Number : 35 Question Id : 64635026365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

645350102475 1
645350102476 2
645350102477 2
48350102478 4

Sub-Section Number: 5
Sub-Section 1d: 6463501296
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635026366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
646350103479, 1

EAE350103480. 2
E4E3501023481. =



EAEZ501034582. 4

Question Number : 36 Question Id : 64635026366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)
Options:
646350103479, 1

EAEZ50103480. 2
E4E3501023481. =
E4AE350102348Z2. 4

Question Number : 37 Question Id : 64635026367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



E4E35010234583. 1
645350103484, 2
6453501023485, =
6453501034586, 4

Question Number : 37 Question Id : 64635026367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E32E010348=2 1

EAEZ501034584. 2
E4E3501023485. =
E4E35010234586. 4

Question Number : 38 Question Id : 64635026368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

E4E35010234587. 1
E4AE3501023488. 2
6453501023489, =
6453501023430 4

Question Number : 38 Question Id : 64635026368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102487 1
48350102488 2
453501024589 =2
645350102490, 4

Question Number : 39 Question Id : 64635026369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453501023491, 1
645350103492, 2
E4EZ50103432. =
EAE3501023494. 4

Question Number : 39 Question Id : 64635026369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

645350102491, 1
645350102492 2
645350102433 =
645350102494 4

Question Number : 40 Question Id : 64635026370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E350103495. 1
EAEZ501034396. 2
E4E3501023497. =



EAEZ5010234398. 4

Question Number : 40 Question Id : 64635026370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

645350102495 1
645350102496, 2
645350102497 2
E4E350102498 4

Question Number : 41 Question Id : 64635026371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

6453501024593, 1
645350103500, 2
645350103501, 2
E4E350103502. 4

Question Number : 41 Question Id : 64635026371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

645350102499 1
645350103500 2
645350103501, =
645350103502 4

Question Number : 42 Question Id : 64635026372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) 01l spill
(3) Industrial waste water

(4) Sewage

Options:

645350103503, 1
645350102504 2
645350103505 =
645350103506, 4

Question Number : 42 Question Id : 64635026372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

645350103503 1
648350102504 2
45350102505 =2
645350102506, 4

Question Number : 43 Question Id : 64635026373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E45350103507. 1
645350103508, 2
645350103509, 2
645350103510 4

Question Number : 43 Question Id : 64635026373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:
42350103507, 1

E4E350103508. 2
645350103509, =
645350103510 4

Question Number : 44 Question Id : 64635026374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E350103511. 1
EAE350103512. 2
E45350103513. 2
645350103514 4

Question Number : 44 Question Id : 64635026374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

6453501023511 1
645350103512 2
645350103513 =
648350102514 4

Question Number : 45 Question Id : 64635026375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

645350103515 1
483501032516 2
645350102517 35
645350102518 4

Question Number : 45 Question Id : 64635026375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

645350103515 1
483501032516 2
645350102517 35
645350102518 4

Question Number : 46 Question Id : 64635026376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

6453501035139, 1
EAEZS0103520. 2
E4E350103521. 2
EAE350103522. 4



Question Number : 46 Question Id : 64635026376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
E4E32E0103519. 1

EAEZS0103520. 2
E4E350103521. 2
EAE350103522. 4

Question Number : 47 Question Id : 64635026377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

645350103523 1
EAEZ50103524. 2
EAE350103525. 2
EAE5350103526. 4

Question Number : 47 Question Id : 64635026377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

645350103523, 1
645350103524, 2
645350103525, 3
EAE350103526. 4

Question Number : 48 Question Id : 64635026378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
6462350103527 1
646350103528 2

645350103525, 2
645350103520 4

Question Number : 48 Question Id : 64635026378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafas 7 o e e s fi ol § sosids o faemm = oo e oo marar?

(1)  TIEFH SATE

2)  wefeEm s

(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
45250103527, 1

EAE350103528. 2
E4E350103529. =
EAE350103530. 4

Question Number : 49 Question Id : 64635026379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

645350103531 1
645350103532 2
6463501035322 =
453501025324 4



Question Number : 49 Question Id : 64635026379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

645350102521 1
645350103532 2
645350103533 =
645350102534 4

Question Number : 50 Question Id : 64635026380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E350103535. 1
EAEZ50103536. 2
E45350103537. 2
645350103538, 4

Question Number : 50 Question Id : 64635026380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wrefae SEIEH] 6 ~gHad 3T
(2)  WrHaH SEIEA] F AT T F o 3w
@)  wepfas goreE =g uan a3 wisss 6 difewi % fog sueea @)
(4) A9 vl gEeAl w1 v f o difedl % fag adam s
Options:
646350103535, 1
646350103536, 2

645350103527, 3
EAEZS010352E. 4

FART Il Homme Science

Section Id : 646350520

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 97

Number of Questionsto be attempted: 97

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 6463501297
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635026381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The conversion ratio of beta carotene to wvitamin A (retinol) recommended by
ICMR (2010) is

1. 1|
2. 1:id
3. 1:4
4, 1:8

Options:



E4E350103539. 1
E45350103540. 2
645350103541, =
645350103542 4

Question Number : 51 Question Id : 64635026381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Eﬁaﬁ%ﬁ?ﬁﬁaﬁqqﬁﬁwﬁmﬁ%m&nﬁmwm. (2010) gRT WRad
3T

B LEl
2 132
3 1: 4
4 1:8

Options:

645350103539 1
E4E350102540 2
45350102541 =2
645350102542 4

Question Number : 52 Question Id : 64635026382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An ideal quality fat for good health 1s the one which maintains n-6/x-3 ratio of

L. 3-8

2. 10-12
3. 0-8-1-0
4. 23

Options:

645350103543 1
648350102544 2
645350102545 5
645350102546 4

Question Number : 52 Question Id : 64635026382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 5-10

2. 10-12
3. 0:8-1-0
4, 2-3

Options:
645350103543 1

E4EZ50103544. 2
E4E350103545. =
E45350103546. 4

Question Number : 53 Question Id : 64635026383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A dietrichin BCAA is given for which disease condition?
1.  Chronic kidney disease
2.  Hepatic encephalopathy
3.  Crohn’s disease

4.  Diverticular disease

Options:

6453501023547 1
645350103548 2
645350102549 =
646350102550 4

Question Number : 53 Question Id : 64635026383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 7<% e I
2. gofts wigaitdt
3. HASTHIA
4. SRR AT

Options:

6453501023547 1
645350103548 2
6453501035493 =2
E4E350102550 4

Question Number : 54 Question Id : 64635026384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Government establishments such as hospitals, home for elderly generally adopt which
of the following methods for purchasing of food and matenal?

1.  Auction buying
2.  Negotiated buying
3.  Blanket order purchase

4. Formal buying

Options:

645350103551 1
645350103552 2
646350103552 =
45350102554 4

Question Number : 54 Question Id : 64635026384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT IR & A Y AR TR @ verd ud a5l @i gg e arR A d 9
forg A &1 vaim @a 22

1. e g e
2. HE-dd B TG
3. =i offeT @il
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Options:

645350103551 1
E4E350102552 2
645350102552 5
645350102554 4

Question Number : 55 Question Id : 64635026385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Foods, supplements provided to athletes with the aim to improve sports performance
are called :

1.  health foods
2. therapeutic foods
3.  ergogenic aids

4.  nufraceuticals
Options:
646350103555, 1
646350103556 2
646350103557, 3
£46350103558. 4

Question Number : 55 Question Id : 64635026385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. WHRes By
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4. TR

Options:

45350102555 1
645350103556 2
645350103557 2
645350103558 4

Question Number : 56 Question Id : 64635026386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The food cost in any food service establishment whatever its size varies between :

1. 4060 percent

I~

20-30 percent
3.  55-75 percent

4.  more than 75 percent

Options:

6483501032559 1
645350102560, 2
645350103561 5
645350103562 4

Question Number : 56 Question Id : 64635026386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 40-60 ufdwa
2. 20-30 ylawd
3. 55-75v9iawd

4. 75 ufoa 9 3ifds

Options:

645350102559 1
645350103560 2
645350103561 =
645350103562 4

Question Number : 57 Question Id : 64635026387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diseases is transmitted through fecal-oral route?
1. Tuberculosis
2. Trachoma
3.  Typhoid

4.  Taemasis
Options:
646350103563, 1
646350103564, 2
646350103565, 3
£46350103566. 4

Question Number : 57 Question Id : 64635026387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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l. Tl
2. CaME
3. fHadigEr

4. AR

Options:

645350103562 1
645350103564 2
645350103565 2
645350103566 4

Question Number : 58 Question Id : 64635026388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

GRAS refers to
1.  generally recognzed as supplement
2. generally recognized as safe
3.  generally recognized as superior

4.  generally recogmzed as starter
Options:
646350103567, 1
646350103563 2
646350103569, 3
646350103570, 4

Question Number : 58 Question Id : 64635026388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350103567 1
48350103568 2
45350102569 =2
6453501023570 4

Question Number : 59 Question Id : 64635026389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The loss of moisture from the gel results in a condition, called
1. dextrimzation
2. retrogradation
3.  marbling

4. syneresis

Options:

645350103571 1
645350103572 2
48350103572 2
645350102574 4

Question Number : 59 Question Id : 64635026389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oiel @ T B &ifel B 1 Wishdl B BEd ©

1. SHICHEURH

Options:

645350103571 1
648350103572 2
453501032572 2
645350102574 4

Question Number : 60 Question Id : 64635026390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Braising combines two methods of cooking. Tick the correct option from the list given
1. blanching-cum-roasting
2. stewing-cum-poaching
3. roasting-cum-frying

4.  sauteing-cum-toasting
Options:
646350103575 1
646350103576, 2
646350103577, 3
646350103578. 4

Question Number : 60 Question Id : 64635026390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. s g
2. XA a O
3. AT HET
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Options:

48350103575 1
45350103576 2
645350103577 5
645350103578 4

Question Number : 61 Question Id : 64635026391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The core of all food preparation and service activity in a food service unit is

1.  purchasing

t~

menu
3.  production

4. work scheduling
Options:
646350103579, 1
646350103580, 2
646350103581, 3
646350103582, 4

Question Number : 61 Question Id : 64635026391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &de
2. WY

3. JdRA
4. B A

Options:

645350103579 1
645350103580 2
645350103581, =2
48350102582 4

Question Number : 62 Question Id : 64635026392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following machine beds 1s commonly used for stitching small, curved or
pieces that are awkward in shape?

1. Flat
2. Cylinder
3.  Feead off the arm

4. Oval
Options:
645350103583 1
645350103584 2
645350103585 =2
645350103586, 4

Question Number : 62 Question Id : 64635026392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. SHad

2. SEEOR
3. SR
4. 3THR

Options:

645350103583 1
648350103584 2
45350102585 =2
645350102586, 4

Question Number : 63 Question Id : 64635026393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following reagents is used for removing the grass stain?

1. Oxalic acid

t~3

Methylated spint
3.  Sodium hydrosulphite

4. Borax

Options:

645350102587 1
6453501023588 2
645350102589 =
645350102590 4

Question Number : 63 Question Id : 64635026393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350103587 1
648350103588 2
45350102589 =2
645350102590, 4

Question Number : 64 Question Id : 64635026394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which printing method will you suggest to your friend for printing a sheet on both sides
simultaneously?

1. Screen
2. Duplex
3.  Photographic

4.  Transfer
Options:
645350103591, 1
Ede350103592. 2
642350103592, 3
645350103594 4

Question Number : 64 Question Id : 64635026394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



forht U3 & qiF1 ol IIY-TIY GEUT & foe oy 3o+ i & fFafefad # 9 f5a ggor fafy
D1 g1 <T1?

1. ®H

2. g

3. BicHihe
4. e

Options:

6453501023591 1
645350103592 2
645350102593 =
648350102594 4

Question Number : 65 Question Id : 64635026395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT a Kasuti stitch?

1.  Gavanh
2.  Phanda
3. Menth
4. Murgi

Options:

645350103595 1
645350103596, 2
648350103597 =2
45350102598 4

Question Number : 65 Question Id : 64635026395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TEat
2. Tal
3. Ht

4. it

Options:

645350103595 1
48350103596 2
45350102597 =2
645350102598 4

Question Number : 66 Question Id : 64635026396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following fibers can be confirmed by the microscopic test?

1. Cotton

2. Polyester
3. Silk

4.  Nylon

Options:

645350102599 1
6453501032600, 2
648350102601, =2
45350102602, 4

Question Number : 66 Question Id : 64635026396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofeied J 8 fa W ot sifigf gemes e @ ot o1 9o 82

1. 9@
2. TR
3. WH
4. AR

Options:

6483501032599 1
45350102600, 2
645350102601, 5
453501023602 4

Question Number : 67 Question Id : 64635026397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following parts of sewing machine has serrated edges?

1. Presser foot

2.  Feeddog
3.  Throat plate

4. Oscillating hook

Options:

48350102602 1
45350102604 2
645350102605 5
453501023606 4

Question Number : 67 Question Id : 64635026397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. TREC
2. BISSA
3. UEwE
4. SEET g

Options:

645350102603 1
645350102604 2
648350102605 =2
45350102608, 4

Question Number : 68 Question Id : 64635026398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the most appropriate for achieving good quality scalloped
hemline of a dress?

1.  Bias facing
2.  Binding
3. Band

4. Shaped facing

Options:

45350103607, 1
645350102608 2
645350102609
645350102610, 4

Question Number : 68 Question Id : 64635026398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. o BT
SIS

3. d8

4. TS BRI

Options:
E4E2E0103607. 1

EAEZS0103608. 2
E4E35010360%9. =
EAE350103610. 4

2

Question Number : 69 Question Id : 64635026399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the secondary property of fibers?
1.  Umformity

2. Density

3. Cohesiveness

4. Tensile strength
Options:
646350103611 1
646350103612 2
646350103613 3
646350103614 4

Question Number : 69 Question Id : 64635026399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UsEUd
2. 9@

3. YOI
4. TIG-&FT

Options:

645350102611 1
645350103612 2
6453501026132 =
48350102614 4

Question Number : 70 Question Id : 64635026400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following lines creates shapes representing unity and variety?
1.  Diagonal lines
2. Zigzag lines
3.  Transitional lines

4. Contrasting lines

Options:

645350102615 1
645350103616 2
48350102617 2
645350102613 4

Question Number : 70 Question Id : 64635026400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofufea o 9 foa a1 8 e 3R fafear &1 qufare enefa &1 fHafor grar 82
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Options:

645350102615 1
645350103616 2
6453501032617 2
48350102618 4

t~2

Question Number : 71 Question Id : 64635026401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hallmark certification 1s awarded by

1= Bls
2. IS0
3. ISl

4. BEE

Options:

645350102619 1
645350103620 2
48350102621, =2
45350102622 4

Question Number : 71 Question Id : 64635026401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102619 1
6453501023620, 2
645350103621 2
48350102622 4

Question Number : 72 Question Id : 64635026402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the most energy efficient lamp?
1.  Halogen lamp
2. Fluorescent lamp
3. Laght emutting diode lamp

4 Sodium vapour lamp
Options:
646350103623, 1
646350103624, 2
646350103625, 3
646350103626, 4

Question Number : 72 Question Id : 64635026402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102623 1
6453501023624 2
648350102625 =
45350102626, 4

Question Number : 73 Question Id : 64635026403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
Reducing material use, minimizing toxic dispersion, recycling for protection of
environment is referred to as
L, CNergy conservaton

2.  eco efficiency

St

energy efficiency

4.  matenal efficiency
Options:
646350103627, 1
646350103628, 2
646350103629, 3
646350103630. 4

Question Number : 73 Question Id : 64635026403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. SO e
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Options:

E4E350102627. 1
45350102628 2
645350102629 5
645350102620 4

Question Number : 74 Question Id : 64635026404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is the paper and pencil techmque of charting time and motion study?
1.  Micro motion analysis
2. Process chart
3. Cycle graph

4. Chronocycle graph

Options:

645350102621 1
645350102632 2
6453501032633
483501026324 4

Question Number : 74 Question Id : 64635026404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. UiparEr
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Options:
645250103631, 1

EAE3S0103632. 2
EAEZ50103633. 2
EAE350103634. 4

Question Number : 75 Question Id : 64635026405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are intrapersonal human resources?
1.  Parks, school, public transport
2. Skills, attitudes, knowledge
3. Air, space, temperature

4. Car, house, furmture
Options:
646350103635, 1
646350103636, 2
846350103637, 3
£46350103638. 4

Question Number : 75 Question Id : 64635026405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350103635 1
483501032636 2
45350102627 5
645350102628 4

Question Number : 76 Question Id : 64635026406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
International norms specified for various activities keeping in mind the equipment and
users’ requirement (Edited by Baiche and Walliman, 2006) are referred to as :

1. International space standards
2. Neufert Architect’s Data
3. Bulding standards

4. Space standards

Options:
45350103639, 1

EAEZ50103640. 2
E4E350103641. =
645350103642, 4

Question Number : 76 Question Id : 64635026406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350102629 1
645350102640 2
645350102641 =
645350103642 4

Question Number : 77 Question Id : 64635026407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A pregnant woman was informed that her fertilized ovum was growing in an area other
than the uterus. The condition 1s called :

e—

RH incompatibility
2. Invitro fertilization
3.  Surrogacy

4.  Ectopic pregnancy
Options:
646350103643 1
646350103644 2
646350103645 3
£46350103646. 4

Question Number : 77 Question Id : 64635026407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

483501032642 1
45350102644 2
645350102645 o
645350102646 4

Question Number : 78 Question Id : 64635026408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Harlow’s famous attachment studies were conducted using which animals/birds?

1. Pigeons

2. Rats
3. Rabbits
4.  Monkeys

Options:

645350103647 1
48350102648 2
645350102649 5
645350102650 4

Question Number : 78 Question Id : 64635026408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

483501032647 1
45350102648 2
645350102649 5
645350102650 4

Question Number : 79 Question Id : 64635026409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Marcia’s term for adolescents who have made a commitment but have not experienced
a Crisis 1s

p—

1dentity achuevement

(]

identity diffusion
3.  identity foreclosure

4. 1dentity moratorium

Options:

645350102651 1
6483501032652 2
45350102652 =2
645350102654 4

Question Number : 79 Question Id : 64635026409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



R foram ofomn @ &t € W= doc &7 3gHd 7B fa1 81 39 g Afte &1 uilvifte
W%:

1. drere Py ergsied weade)
2. dree AR @ngsied! Ruge)
3. e Hie (3esied hResR)
4,  drered faee (3mgsiedt arTeifam)

Options:

645350102651 1
645350103652 2
645350103653
6483501032654 4

Question Number : 80 Question Id : 64635026410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The childline service 1s a 24-hr free phone service that can be accessed by dialing

1. 1081
2. 100

3. 1099
4. 1098

Options:

6453501032655 1
483501032658 2
45350102657 =2
645350102658 4

Question Number : 80 Question Id : 64635026410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 1081
2. 100

5. 1008
4. 1098

Options:

645350102655 1
645350103656 2
645350103657 2
483501032658 4

Question Number : 81 Question Id : 64635026411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Levinson proposed a model of adult development in his book, entitled :
1. Passages

2 Seasons of a Man’s Life

3.  Adaptation to Life

4. How We Age

Options:

645350103659, 1
645350102660, 2
645350103661, 5
645350103662 4

Question Number : 81 Question Id : 64635026411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350102659 1
645350103660, 2
645350103661, =
483501032662 4

Question Number : 82 Question Id : 64635026412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Disorders or disease not associated with the biological aging process is :

1. Bulimia
2. Presbycusis
3. Macular disease

4, Dementia
Options:
6463501023663, 1
E4E2350102664. 2
E4E3E0103665. =
40250103666, 4

Question Number : 82 Question Id : 64635026412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102662 1
645350103664 2
645350103665 o
645350103666, 4

Question Number : 83 Question Id : 64635026413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The practice of marriage within the boundaries of kin group, clan lineage, village and
social class i1s known as :

=

exogamy
2. endogamy

3. hypogamy

4.  hypergamy

Options:

45350103667, 1
45350102668 2
645350103669
645350103670 4

Question Number : 83 Question Id : 64635026413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350102667, 1
645350103668 2
645350103669 2
645350103670 4

Question Number : 84 Question Id : 64635026414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A couple would hike to adopt a child. They need to register online with the
organization, called :

1. SARA
2. DCCW
3. CARA
4.  SAA

Options:

48350102671 1
645350102672 2
6453501026732
645350102674 4

Question Number : 84 Question Id : 64635026414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350102671 1
645350103672 2
645350103673 o
645350103674 4

Question Number : 85 Question Id : 64635026415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The elements present the Aristotle’s model of communication are :
1.  speaker, speech, audience
2. source, signal, destination
3. sender, encoder, decoder

4.  sender, decoder, feedback

Options:

48350103675 1
645350102676, 2
6453501023677 5
645350102678 4

Question Number : 85 Question Id : 64635026415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350102675 1
E4E350102E67E, 2
45350102677 5
453501023678 4

Question Number : 86 Question Id : 64635026416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Putting the last first” is the guding philosophy of people-centric development,
proposed by

1.  Paul Leagans
2.  Everett Rogers
3. Spencer Hatch

4, Robert Chambers

Options:

483501032679 1
45350102680, 2
645350102681, 5
645350102682 4

Question Number : 86 Question Id : 64635026416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350102679 1
645350102680, 2
645350102681, =
48350102682 4

Question Number : 87 Question Id : 64635026417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is an example of organmized social-change imitiative?
1. Self-help group

2. Youthclub
3.  Dairy co-operative

4. Religious discourse

Options:

645350102683 1
483501032684 2
45350102685 =2
645350102686, 4

Question Number : 87 Question Id : 64635026417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102683 1
483501032684 2
45350102685 =2
645350102686, 4

Question Number : 88 Question Id : 64635026418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A pamphlet announcing launch of coaching classes in your colony is an example of :
1. verbal channel
2. localite channel
3. cosmopolite channel

4. implicit channel

Options:

645350102687 1
6453501023688 2
463501026589 =2
45350102690, 4

Question Number : 88 Question Id : 64635026418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350103657, 1
645350102688 2
645350102689 5
645350102690, 4

Question Number : 89 Question Id : 64635026419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Noble Laureate Mohammad Yunus 1s acclaimed for lns work on :

1.  cooperatives
2.  dairy development
3.  promotion of literacy

4. micro-credit
Options:
646350103691 1
646350103692, 2
646350103693, 3
646350103684 4

Question Number : 89 Question Id : 64635026419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102691 1
645350102692 2
645350102693 2
648350102694 4

Question Number : 90 Question Id : 64635026420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Protection of Women from Domestic Violence Act was passed in the year

1. 2001
2. 2005
3. 2010
4. 2015

Options:

45350103695, 1
645350102696, 2
6453501023697 5
645350102698 4

Question Number : 90 Question Id : 64635026420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 2001
2. 2005
3. 2010
4. 2015

Options:

645350102695 1
645350102696, 2
645350102697 2
48350102698 4

Question Number : 91 Question Id : 64635026421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements 1s NOT true about folk media?

1.  Folk media are indigenous equivalents of mass media

2. Folk media include plays, dances and songs

3. Folk media are used purely for entertainment

4. Folk media are used during fairs and festivals
Options:
646350103699, 1
646350103700, 2
646350103701, 3
646350103702, 4

Question Number : 91 Question Id : 64635026421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102699 1
645350102700 2
645350102701, =
48350102702 4

Question Number : 92 Question Id : 64635026422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Income 1s scale of measurement.

1. nominal

2. ordinal
3. ratio
4.  interval

Options:

645350102702 1
6453501023704 2
645350102705 =
645350103706, 4

Question Number : 92 Question Id : 64635026422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4EZ2E0103702 1

EAEZ50103704. 2
E4E350103705. 2
EAE350103706. 4

Question Number : 93 Question Id : 64635026423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In retrospective research studies which of the following types of research methodology
1s used?

1. Observational
2, Histonical
3. Quantitative

4.  Action
Options:
646350103707 1
646350103708, 2
646350103709 3
4250102710 4

Question Number : 93 Question Id : 64635026423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. Ue&uiHs
2. iR
3,  HEFS
4. Fd

Options:

645350102707 1
645350102708 2
645350102709 2
48350102710 4

Question Number : 94 Question Id : 64635026424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Regression analysis 1s of particular interest
1.  for testing the difference between means of 2 groups
2. for testing the difference among more than 3 different groups
3. for testing the association between 2 variables

4. for identifying nisk factors in any causal factor analysis

Options:

645350102711 1
645350103712 2
645350102713
645350102714 4

Question Number : 94 Question Id : 64635026424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102711 1
645350102712 2
646350102713 2
48350102714 4

Question Number : 95 Question Id : 64635026425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Type-I error in drawing statistical inference while testing the nmull hypothesis 1s
1. Reject Howhen it is true
2. Accept Hp when it is false
3.  Accept Ho whenit 1s true

4. Reject Ho when it is false
Options:
646350103715 1
646350103716 2
646350103717, 3
646350103713 4

Question Number : 95 Question Id : 64635026425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I TR THEU 37 & U H Fifers- ey e Hogr- 13k @
1. Ho® I8 8F o1 a2 & 53 orediod He1
2. Ho & 7Td 8 &1 50 H 59 Wipd B
3. Hy, & 92l cF 31 X1 H 59 Wied S
4. H, & 7Tad 87 ®1 G2 § 39 3r<iepd Sl

Options:

645350102715 1
645350103716 2
645350103717 2
48350102718 4

Question Number : 96 Question Id : 64635026426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Difference between the mean of a researcher’s sample and the mean of the population
of the sample 1s known as

1.  Confidence Interval
2. Sampling Error
3.  Sigmficance level

4. Standard Deviation
Options:
646350103719 1
46350103720 2
646350103721 3
4350102722 4

Question Number : 96 Question Id : 64635026426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102719 1
645350103720 2
48350102721 =2
45350102722 4

Question Number : 97 Question Id : 64635026427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In an experimental study
1.  Researcher collects information on attributes of interest, but not influence
the events

2. Researcher influences events and investigates the effects of intervention
3. Researcher collects data forwards in time from the start of the study

4.  Researcher collects data referring to past events

Options:

645350102722 1
6453501023724 2
645350102725 2
645350103726 4

Question Number : 97 Question Id : 64635026427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ot TS ST H

1. gEUFGAl IS & T & YR W I UHHd Sedl ¢ uig Tarareal J
SEEEEHEZG

2. FEUFGdl AR S pHIRT $AT 8 T SAT & UHE B S Bl &
3. UGl T B YEITT | B 3 & THY T ST UhHd HIal ©
4. EYFSd e AR % 9oy 4 3o wehid e @

Options:

645350102722 1
645350102724 2
645350103725 2
48350102726 4

Question Number : 98 Question Id : 64635026428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the most appropriate test of significance to test the association between
mother’s education and children’s school attainment?

Lo Kruskal-Wallis test
2. Chi-square test
3. F-test

4. 1-test
Options:
64350103727 1
G4G350103728. 2
645350103729 2
64E350103730 4

Question Number : 98 Question Id : 64635026428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350103727 1
645350103728 2
645350103729, 3
EAEZ50103730. 4

Question Number : 99 Question Id : 64635026429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following lists presents the section of a research report in the correct

order?

Options:

Title page, Title, Abstract, Introduction, Method, Results, Discussion,
Conclusion, Appendices, Reference

Title page, Abstract, Title, Introduction, Method, Results, Discussion,
Conclusion, Appendices, Reference

Title page, Abstract, Title, Introduction, Method, Results, Discussion,
Conclusion, Reference, Appendices

Title page, Abstract, Title, Introduction, Method, Results, Conclusion,
Discussion, Reference, Appendices

6453501037311
645350103732 2
EAEZ501037V3E. 2
EAEZ50103734. 4

Question Number : 99 Question Id : 64635026429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. XU UE, R, e, FRET, TEid, TR, SUSER, T9, e, TRIRE

Options:

645350103731 1
48350102732 2
453501027322 2
645350102724 4

Question Number : 100 Question Id : 64635026430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following foods in the increasing order of Glycemic Index (GI)

(a) Popcom

(b) Orange

(c) Barley

(d) Whole wheat bread

(e) Milk (Full fat)

Select the most appropriate option :
L (d);(a); (e); (b); (&)
2. (b (d;(e)e) (@
3. (ek(e)(b) (@) (@)
4. (b); @), (. @), ()

Options:

645350102725 1
645350103736 2
645350102737 2
645350102738 4



Question Number : 100 Question Id : 64635026430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e @ el & 350 TRRNS 399 & 3MYR T 9gd gU HH A T ;
(a) U

(b) HX

(¢c) o

(d) Tmof g & 3ie | Tt S9a AU
(€) TU @ IE)

Haittes Iugad e e &1 g=1d S :

L. (d: @ (c); (b): ()
2. (b);(d); (e); (c); (@)
3. (c);(e); (b); (a); (d)
4. (b); (@), (d), (e). (c)

Options:

645350102725 1
645350103736 2
645350102737 2
645350102738 4

Question Number : 101 Question 1d : 64635026431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s NOT a symptom of metabolic syndrome?
(a) Ischaemia

(b) Osteoporosis

(c) Dyslipidemia

(d) Insulin resistance

(e) Obesity

(f) Thrombosis

Select the most appropriate option :
1. (a) () (D
2. (c)(d);(e)
3. (ble)s®
4. (a); (b (®

Options:

645350102729 1
645350102740 2
645350102741 =
6453501032742 4

Question Number : 101 Question 1d : 64635026431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (&) (c); (D
2. (o) (d(e)
3. (@ ®
4. (a) (b) (D

Options:

645350102739 1
645350102740 2
648350102741 =2
45350102742 4

Question Number : 102 Question Id : 64635026432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Children 659 months suffering from SAM should fulfill which of the following three
criteria?

(a) Weight-for-height < —3SD
(b) Height-for-age < —3SD
(c) MUAC < 115 mm
(d) MUAC < 125 mm
(e) Bilateral oedema
(f) No oedema
Select the most appropriate option :
1. (a),(b); ()
2. (e} (d);(e)
3. (b (d);(®
4. (a) () (e

Options:

645350103743 1
45350102744 2
645350102745 5
645350102746 4

Question Number : 102 Question Id : 64635026432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TR & 39U H HR < -3 AFS dga-
(b) 3H & U H aHls < —3 HIFS fd=a=
(c) el oiRfE < 115 fHA.
(d) e oifd < 125 fir #t

() feueia e
() <N e
FaTide® Iuged (A% ed H1 gH1d S :

L. (@) (b) (o)
2. (0 (d);(e)
3. (b)) ®
4. (&) (c) (e

Options:

645350102742 1
645350102744 2
645350102745 =
48350102746 4

Question Number : 103 Question 1d : 64635026433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are weft knit structures?
(a) Purl

(b) Rib

(¢) Interlock

(d) Tricot

(e) Raschel

Select the most appropriate option :
L. (a); (b);(c)
2. (&) (c)(d)
3. (ex(d;(e)
4. (b); (@) ()

Options:

645350102747 1
48350102748 2
45350102749 =2
645350102750, 4

Question Number : 103 Question Id : 64635026433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)  Td
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1. (@) (b) (e
2. (a;(e(d
3. (e (d);(e)
4. (b);(d); ()

Options:

645350102747 1
645350103748 2
45350102749 =2
645350102750, 4

Question Number : 104 Question Id : 64635026434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following body landmarks have to be located for taking measurements for
a saree blouse?

(a) Apex
(b} Armpit level
(¢) Biceps
(d) Highest shoulder point
(e) Lowest shoulder point
Select the most appropriate option
L. (a); (b (c)
2. (a0 (@
3. (a) @) (e)
4. () (c) (D)

Options:

645350102751 1
645350103752 2
646350102752 =2
45350102754 4

Question Number : 104 Question Id : 64635026434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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I (a);(b) (e
2. (a)(c)(d
3. (au(d:(e)
4. (b)(e) (@)
Options:

6453501027510 1
645350103752 2
645350103753 3
E4E350103754. 4

Question Number : 105 Question Id : 64635026435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are set-in sleeves?

(a) Bishop
(b) Tulip
(c) Lantern

(d) Cartwheel
(e) Basic dolman

® Raglan
Select the most suitable option :
L. (a); () (c); (d)
2. (a)(e)(d:(e
3. (ay(d)y; (e @
4. (b);(e) (&) (D

Options:

645350102755 1
48350103756 2
48350102757 2
645350102758 4

Question Number : 105 Question Id : 64635026435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a); (b); (c); (d)
2. () (0); (d); ()
3. (a)x(d)(e) (O
4. (b);(e); (e); (D

Options:

645350102755 1
645350103756 2
648350102757 2
45350102758 4

Question Number : 106 Question Id : 64635026436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following could maximize the use of family resources?
(a) Careful selection of goals
(b) Posifive attitude
(c) Family heritage
(d) Media functions
(e) Alternative uses of resources
Select the most appropriate option :
L. () (c); (e
2. (a)(d)(e)
3. (a)y(D);(e)
4. () (d)(e)

Options:

45350103759, 1
645350102760, 2
645350102761 5
645350102762 4

Question Number : 106 Question Id : 64635026436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frofaiad 7 9 fead viar & 99iem &1 Afiean g/ o 9o 82

(a) e FHT FRUHITES 997
(b) HHRIHD Wl

(©) Hifsm s o™
() 9l @ dBicie Iuan
Haitde Iugad fawed &1 g-1a Sifor :

. (b)(e) (e
2. (a);(d);(e)
3. (@) (b)(e)
4. (0 (@) (e)

Options:
422350103759, 1

EAEZ501037e0. 2
645350103761, =
E4E35010376E. 4

Question Number : 107 Question 1d : 64635026437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[dentify the air related legal provisions in India :
(a) Air Act, 1981
(b) Wildlife (Protection) Amendment Act, 2002
(¢) Motor Vehicle Act, 1939
(d) The Factories Act, 1948
(e) Forest Dwellers (Rights) Act, 2006
Select the most appropriate option :

L. (a) (e} (d)

2. (b)(c) (e

3. (a)(e)(e

4. () (e (d)

Options:

48350102762 1
45350102764 2
645350102765 o
645350102766, 4

Question Number : 107 Question Id : 64635026437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



YR H a1g I Fafia e Susdl o vgau
(a) arg sifafam, 1981

(by Tl (Ee) S=ITe fafEd, 2002
(c) Arc-ar sfafaq, 1939

(d) HIREH 3ifaf~aH, 1948

() T famE (3fteR) sifafam, 2006

Taitie Iuged f[Aeed 1 g1 ity :
L. (a);(e)(d)
2. (b)) (e
3. (a(e)(e)

4. (b); (c); (d)

Options:

645350102762 1
645350102764 2
645350102765 o
645350103766, 4

Question Number : 108 Question 1d : 64635026438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are green building materials?
(a) Commercial boards
(b) Plastic boards
(¢) Pozzolame matenals
(d) Cement
(e) Bamboo board
Select the most appropriate option :
1. (a);(c);(e)
2. (a)(b) (e
3. (b)(e)(d)
4. (c)(d); (&
Options:
646350103767, 1
646350103763, 2
646350103769, 3

E4E250102770. 4

Question Number : 108 Question Id : 64635026438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@ 9w

(e) IS TS
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L (@) ()@
2. (a);(b);(c)
3. () (e); (@
4. (0 (d; (e

Options:

6453501023767, 1
6453501023768 2
645350102769 2
E4E350102770. 4

Question Number : 109 Question Id : 64635026439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Structuring interior space involves analysis of the following :
(a) Number of occupants
(b) Minimal space required for activities
(c) Relationship of different spaces with one another
(d) Rendening plans
(e) Income of occupants
Select the most appropriate option :
L. (a); (c);(d)
2. (b)(c); (e)
3. (e)(d);(e)
4. (a)(b); (0

Options:

645350102771 1
645350103772 2
645350102773 2
48350102774 4

Question Number : 109 Question Id : 64635026439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) sffHe ey fo=m
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Faitte Iuged faewe &1 997 Sifer :
L. (@);(e)(d)
2. (b)(e) (e
3. (o) (d)(e)
4. (a); () (o)

Options:

645350102771 1
645350103772 2
645350103773 2
45350102774 4

Question Number : 110 Question Id : 64635026440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



There 1s sufficient research evidence to show that consumption of foods high on sugar
may lead to the following in children :

(a) hyperactivity

(b) aggression

(c) inattentiveness
(d) lying
(e) skin infection

Select the most suitable option :
. (@b @
2. (@b
3. (@:(:(e
4. (0);(d); (o)

Options:

645350102775 1
645350103776 2
645350103777 2
E4E35010377E 4

Question Number : 110 Question Id : 64635026440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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@ g
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1. (a); (b)y (D
2. (a), (b)(c)
3. (a)(c)(e)
4. () (dy(e)

Options:

645350103775 1
E4E350102776 2
645350102777 35
645350102778 4

Question Number : 111 Question Id : 64635026441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A school teacher notices that one of his students is regularly copying incorrectly from
the board. What assessment will he recommend to the parents?

(2) Vision
(b)  Reflexes
() Intellectual functioning
() Dyslexia
(e) Allergies
Select the most suitable option :
L. (&) (b (©
2. (b);(e) (@)
3. (a)(e)x(d
4. (b);(d); (e)

Options:

6453501037793 1
45350102720 2
645350102781 5
645350102782 4

Question Number : 111 Question Id : 64635026441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a) (D) (c)
2. (b)) (@)
3. (e (d
4. (b (d)(e)

Options:

48350102779 1
45350102720 2
645350102781 5
645350102782 4

Question Number : 112 Question Id : 64635026442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which criteria are used in legislations for treating juveniles differently from young
adults?

(a) Physical development
(b) Economic development
(c) Intellectual development
(d) Socio emotional development
Select the most suitable option :
1. (a);(b); (©
2. (a)(b); (@)
3. (a)(c)(d)
4. (B);(e); (@)

Options:
42350103783, 1

EAEZ50103784. 2
E453501037E5. 3
E4E35010375E6. 4

Question Number : 112 Question 1d : 64635026442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a); (b); ()
2. (@;(b)(d)
3. (@x(c)(d)
4. (b)(e); (@)

Options:

48350102782 1
45350102724 2
645350102785 o
645350102786, 4

Question Number : 113 Question Id : 64635026443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Use of ICTs for development is limited in India because of
(a) Poor telecom infrastructure
(b) [Miteracy of people
(¢) Large geographical area
(d)  Large population of the country

Choose the most suitable option :

L. (a)(b)
2. ()
3. (o) (d)
4. (a)(d)

Options:

645350102787 1
645350102788 2
645350102789 2
645350102730 4

Question Number : 113 Question 1d : 64635026443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) ST &I e

(0) fa=mTa Hiiifers &

(d) X B fATE e

Tt Iuged fdeed &1 T Sifor :
1. (@)
2. (b9
3. (ex(@d
4. (a)(d
Options:

E4E3501037VE7. 1
EAEZ501037VEE. 2
E4E350103789. =
E453501023730. 4

Question Number : 114 Question 1d : 64635026444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Advocacy’ is

(a) an independent persuasion activity

(b) dependent on a planned strategy

(c) to highlight priority issue before decision-makers
(d) a surrogate activity to meet political leaders

Choose the most appropriate option :

1. (a);(b)
2. (b))
3. (bs(d)
4. (a)(d)

Options:

48350102791 1
45350102792 2
645350102792 5
645350102794 4

Question Number : 114 Question Id : 64635026444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) e Fafaret & = muiisar & a9d W US STen & forg
(d) TSt Tes Aarel 8 fire= & e te RIFTE (WRI) fharsamy

Haitte Iuged faewed &1 997 Hifog :
1. (a); (b)
2. (bs(0)
3. (@
4. (a)s(d
Options:

E4E350103791. 1
EAEZ5010373E. 2
E45350103733. 3
E4535010237594. 4

Question Number : 115 Question 1d : 64635026445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A non-formal educator develops a lesson plan for each session to
(a) identify local leaders
(b) adopt definite objective/(s)
(c) present material in a logical sequence
(d) evaluate the learning outcomes
(e) to do cost-benefit analysis
Choose the most appropriate option :
1. (a); (b) ()
2. (ak(byx(@
3. (ay (b (®
4. (B)x(x @

Options:

48350102795 1
45350102798 2
645350102797, 5
645350102738 4

Question Number : 115 Question Id : 64635026445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(d) 3 oot & g & foe
(e) AT -arH fa=awor & fom
Faiide® Iuged fAeed &1 997 HIfo :
1. (a); (b); ()
2. (a)(0) (D)
3. (a)(b)(e)
4. () (c) (d)

Options:

645350102795 1
645350102796, 2
645350103737 2
48350102798 4

Question Number : 116 Question Id : 64635026446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are important for maintaining credibility of news?
(a) Precision

(b) Accuracy

(c) Timeliness

(d) Tangibility

(e) Reliability

Select the most suitable option :

S

(a); (b; (c); (d)
2. (@) (e (d); (e
3. (a);(b);(0); (e)
4. (a); (b) (@) ()

Options:

645350102799 1
645350102800, 2
645350102801, =
6453501023802 4

Question Number : 116 Question 1d : 64635026446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) gTdar
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(c) g
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(&) frsg=taa

Faia® I0gad fAewed &1 997 oifo ;

L. (&) (b); () (d)
2. (a) (c); (d); ()
3. (a); (b) (c); (&
4. (@) (b); (d); (e)

Options:

645350102799 1
645350102800, 2
645350102801, =
48350102202 4

Question Number : 117 Question 1d : 64635026447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Determination of sample size in research is based on
(a) Type of statistical test
(b) Desired confidence level
(c) Estimated standard deviation
(d) He and Hy
(e) Degree of precision requuired
Select the most appropriate option :

L. (a)(b) (e)

2. (b(e);(@

3. (b);(e) (D)

4. () @;E)

Options:

645350102803 1
E4E350102804 2
45350102805 =2
645350102806, 4

Question Number : 117 Question Id : 64635026447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) Ho 3R Hy
(e) IR DI T=S TFT
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1. (a); (b) 3R (e)
2. (b); () R (e)
3. (0):(0) R (d)
4. (0);(d) 3R (e)

Options:

645350102803 1
E4E350102804 2
45350102805 =2
645350102806, 4

Question Number : 118 Question Id : 64635026448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are the general ethical principles according to APA?
(a) Beneficence and non-malficence

(b) Patriotic

(c) Conformity

(d)  Credibility

(e) Justice
(f) Integrity
(g) Respect

Select the most appropriate option
1. (a)(d): ) (D
2. (ax(d;(e); (@
3. (a)(e)(d);(e)
4. (a); (b); (c); (g)

Options:

645350102807 1
6453501023808 2
645350102809 2
48350102810 4

Question Number : 118 Question Id : 64635026448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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99 Iugad [deed &1 99 o :

L. (a); (d); (e) AR (D
2. () (d); (e) MM (@)
3. (@);(0); (d) 3R (e)
4. (@) (b); () 3R (g)

Options:

645350102807, 1
6453501023808 2
646350102809 =2
45350102810 4

Question Number : 119 Question Id : 64635026449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) :  Undemourished mothers can successfully breast feed.

Reason (R) : Quality and quantity of breastrmlk may not be affected 1n severe
malnutrition.

Select the most appropriate option :
1. (A)is correct and (R) 1s incorrect
2. (A)isincorrect and (R) is correct
3. Both(A)and (R) are correct

4. Both (A) and (R) are incorrect

Options:

645350102811 1
645350102812 2
645350102813 =
6453501025814 4

Question Number : 119 Question 1d : 64635026449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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gaifties Iuged fdee &1 99+ i)
1. (A)FEE SR (R) o
2. (A)TEd g R (R) &
3. (A)ARE) A T E
4. (A)R®R) 3 Tad g

Options:

645350103811 1
648350102812 2
645350102812 5
645350102814 4

Question Number : 120 Question Id : 64635026450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion (A) : Nanotechnology can be applied in the manufacture of antistatic
garments.

Reason (R) : Nanotechnology develops an anfistatic membrane on the garment
which protects the wearer from electrostatic charges.

Select the most appropriate option.
1. Both(A)and (R) are correct
2.  Both({A)and (R) are incorrect
3. (A)is correct but (R) is incorrect

4. (A)is incorrect but (R) is correct

Options:

645350102815 1
645350103816 2
646350102817 2
48350102818 4

Question Number : 120 Question Id : 64635026450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645250103515, 1

E4E350103816. 2
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Question Number : 121 Question Id : 64635026451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion (A) :  Counterfeit and knock off are same type of products.

Reason (R) : They are both imitations of the orniginal, but do not carry the labels
and trademarks of the original.

Select the most appropriate option :
1. (A)and (R) both are correct
2. (A)and (R) both are incorrect
3.  (A)is correct but (R) 1s incorrect

4. (A)1s incorrect but (R) is correct

Options:

645350102819 1
6453501023820 2
646350102821 =2
45350102822 4

Question Number : 121 Question Id : 64635026451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AMBYT (A) : ool 3R uie te gaF e & Jare 2
SRU((R)  : ATH HA S ViFEU ¢ g 39 N Ha & dad IR AR fag 78 g1 2
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1. (A) R (R) T T&t &

2. (A) 3R (R) T T €

3. (AW R) T

4. (A)TEdE BPgR) TE

Options:
E4E32E010235819. 1

EAEZS0103820. 2
E4E350103821. =
EAE350103822. 4

Question Number : 122 Question 1d : 64635026452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Assertion (A) : Cotton fabrics are dyed with reactive dyes without creating any
polluted effluents.

Reason (R) : Reactive dye reacts with the fiber molecule by addition or
substitution.

Select the most appropriate option :
1. Both (A)and (R) are correct
2.  Both(A)and (R) are incorrect
3. (A)is correct but (R) 1s incorrect

4. (A)isincorrect but (R) is correct

Options:

645350102822 1
645350102824 2
6453501023825 =
645350103826 4

Question Number : 122 Question 1d : 64635026452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350102823 1
645350102824 2
646350102825 =
453501028268 4

Question Number : 123 Question Id : 64635026453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) @ Innovation 1s same as creativity.

Reason (R) : Creativity is the ability to generate new ideas and innovation refers to
social application of the creative idea.

Select the most appropriate option :

1.  (A)is correct and (R) 1s incorrect
2. (A)isincorrect and (R) 1s correct
3. Both(A)and (R) are correct

4.  Both (A) and (R) are incorrect

Options:

645350102827 1
6453501023828 2
645350102829 2
645350102830 4

Question Number : 123 Question 1d : 64635026453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350102827 1
645350103828 2
646350102829 2
45350102820 4

Question Number : 124 Question Id : 64635026454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Bay windows project outward from the face line of the wall of a
building.

Reason (R) : Itisintroduced with a view to provide an increased floor area to allow
more seating.

Select the most appropriate option :
1. (A)is correct and (R) 1s incorrect
2. (A)isincorrect and (R) 1s correct
3. Both(A)and (R) are correct

4. Both (A) and (R) are incorrect

Options:

645350103831 1
E4E350102832 2
45350102822 =
645350102824 4

Question Number : 124 Question Id : 64635026454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350103531, 1
645350102832 2
645350102832
645350102834 4

Question Number : 125 Question Id : 64635026455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) :  Warmth of sun’s rays is advantageous during evening time.

Reason (R) : Evening air confains moisture which absorbs the heat and allows the
light.

Select the most appropriate option :
1.  (A)is correct and (R) is incorrect
2. (A)isincorrect and (R) is correct
3. Both(A)and (R) are correct

4.  Both(A) and (R) are incorrect

Options:

645350102835 1
645350103836 2
6463501028327 2
45350102828 4

Question Number : 125 Question Id : 64635026455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501023835 1
6453501032836 2
E4E350102827. 2
645350102823 4

Question Number : 126 Question Id : 64635026456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) :  Alternating physically active and quiet activities 15 developmentally
appropnate for children in preschools.

Reason(R) : Young children’s attention span is short and energy levels high;
therefore they require periodic change in activity.

Select the most suitable option :

=

Both (A) and (R) are correct
2. Both(A)and (R) are incorrect
3. (A)is correct and (R) is incorrect

4. (A)isincorrect but (R) is correct

Options:

648350102829 1
45350102840 2
645350102841 5
645350102842 4

Question Number : 126 Question Id : 64635026456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350102829 1
645350102840, 2
645350102841, =
48350102842 4

Question Number : 127 Question 1d : 64635026457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : Ratifying international conventions has impacted legislations, policies
and programmes for women and children.

Reason (R) : Non-compliance with the article in the conventions leads to pumtive
measures against the transgressing state.

Select the most suitable option :
1. Both(A)and (R) are correct
2.  Both (A) and (R) are incorrect
3. (A)1s correct and (R) 1s incorrect

4. (A) 1s incorrect and (R) 1s correct
Options:
646350103843 1
£48350103844. 2
646350103845, 3
646350103846, 4

Question Number : 127 Question Id : 64635026457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : A Harvard longitudinal study done on well-being proves that getting a
good education 1s the most important variable for life satisfaction.

Reason (R) : Academic achievement is positively correlated with suceess in life.
Select the most suitable option :

1. Both(A)and (R) are correct

2.  Both(A)and (R) are incorrect

3. (A)iscorrect and (R) 1s incorrect

4. (A)isincorrect and (R) is correct

Options:

48350102847 1
45350102848 2
6453501023849 5
645350102850 4

Question Number : 128 Question Id : 64635026458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Correct Marks: 2 Wrong Marks: 0



Assertion (A) : The modernization paradigm of development advocates for a change
in the mindsets of individuals in poor countries.

Reason (R) : Modermzation required people to be guaded by their cultures and
traditions rather than by outside pressures.

Select the most appropriate option.
1. (A)is correct and (R) 1s incorrect
2. (A)isincorrect and (R) 1s correct

3. Both(A)and (R) are correct

4.  Both (A) and (R) are incorrect

Options:

645350102851, 1
6453501023852 2
645350102853
645350102854 4

Question Number : 129 Question 1d : 64635026459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350103851 1
648350102852 2
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645350102854 4

Question Number : 130 Question Id : 64635026460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Given are the seven principles of HACCP. Arrange them in the correct sequence.

(a) Establish venfication procedure

(b) Determine the critical control point

(c) Establish correction action

(d) Conduet a hazard analysis

(e) Establish record keeping and documentation procedures
(f) Establish critical limit

(g) Establish monitoring procedures

Select the appropriate sequence of the principles :
Lo () (B @); @) (e (g); (0)
2. (d); (b); (B); (g); (c); (a); (e)
3. (D: (o) (e): (a); (d); (g); (B)
4. (d); @ (e); (0: (&) (b); (g)

Options:

645350103855 1
645350103856 2
648350102857, 2
45350102853 4

Question Number : 130 Question Id : 64635026460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b); (D) (@) (d); (e); (g); ()
2. (@) (b); (£); (g); (c); (@); (&)
3. () (e); (e); (a); (d); (g); (b)
4. (d); (a); () (D (e); (b); (8)

Options:

645350103855 1
645350103856 2
646350102857 =2
45350102858 4
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Correct Marks: 2 Wrong Marks: 0



Arrange the steps involved in the preparation of cotton fabric in the correct sequence.
(a) Scouring

(b) Desizing

(¢) Tentering

(d) Bleaching

(e) Calendaring

() Singeing

(g) Mercerising

Choose the most appropriate option :
L. (a); (b); (d); (0): (g); (e); (])
2. (B, (b); (@; (@) (g); (0); (e)
3. (D; () (d); (a), (8); (0); (&)
4. (@) (b); (o) (e); () (D (&)

Options:

645350103559, 1
645350102860, 2
645350102861, =
6453501023862 4

Question Number : 131 Question 1d : 64635026461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. (a); (b); (c); (e); (d); (£); (g)

Options:

645350102859 1
645350103860, 2
646350102861 =2
45350102862 4
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Arrange the following steps of controlling in sequential order :

(a) Establishing standards

(b) Measuring performance

(c) Comparing performance with standards
(d) Detecting deviation

(e) Taking corrective action

Select the most appropriate option :
L. (e) (d); (@) (b); ()
2. (b (a); () (d) (o)
3. (a)(b) (e); () (&)
4. (d); (e); (e); (b); (a)

Options:

6453501038632 1
45350102864 2
45350102865 5
645350102866, 4

Question Number : 132 Question Id : 64635026462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
422350103562, 1
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Correct Marks: 2 Wrong Marks: 0



Arrange the reproductive process in sequence :
(a) Fetal period
(b) Spermatogenesis and oogenesis
(©) Embryonic period
(d) Fertilization
(e) Ovulation
(f) Germinal period
Select the most suitable option :
L. (b)) (@) (B); (0); (a)
2. (b (e (@ () (D) (@)
3. (b):(d); () (D) (0); ()
4. (e); (b); (d); (£); (a); (¢)

Options:

645350103567, 1
645350102868 2
645350102869 2
645350102870 4

Question Number : 133 Question 1d : 64635026463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (b); (e); (d); (D); (e); (@)
2. (b);(e); (d); (); (); (a)
3. (b);(d); (&); (B); (c); (@)
4. (e); (b); (d); (£); (a); ()

Options:

645350103867 1
45350102868 2
645350102869 5
645350102870 4

Question Number : 134 Question Id : 64635026464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following ‘learnming experiences’ in decreasing order of ‘learning’ as per
Edgar Dale’s cone of experience :

(a) Watch videos
(b) Attend an exhibition
(© Participate in hands on workshop
(d) Design and conduct collaborative lessons
(e) Watch a demonstration
(f) Hear a radio programime
Choose the most appropriate option :
1. (a); (b); (e); (c); (d); (£)
2. (b);(e); (e); (d); (D); (@)
3. (o) (d); (b); (a); (£); ()
4. (d)(e); (e); (b); (a); (D)

Options:

645350103571, 1
645350102872 2
645350102873 2
645350102874 4

Question Number : 134 Question 1d : 64635026464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (a); (b) () (¢); (d); (D)

2. (b);(c); (e); (d), (D); (a)
3. (c) (d) (b); (@), (£); (&)
4. (d); (c); (e); (b); (a); ()

Options:

48350102871 1
645350102872 2
645350102872
645350102874 4

Question Number : 135 Question Id : 64635026465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following development campaigns/programmes in the chronological order
of their inception :

(a) Swachh Bharat Abhiyan

(b) Beti Bachao Beti Padhao Abhiyan
(c) Sarva Shiksha Abhiyan

(d) Anaemia Mukt Bharat Abhiyan

Choose the most appropriate option :
L. (i) (d); (a)
2. (&) (b); (e (D)
3. (d); () (b); (a)
4. (c); (a) (b); (d)

Options:

645350102875 1
48350102876 2
48350102877 2
645350102878 4

Question Number : 135 Question Id : 64635026465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b (c); (d); (@)
2. (a)(b);(c) (@)
3. (di(e) (b); ()
4. (o) (a); (b) (d)

Options:

645350103875 1
645350103876 2
48350102877 2
45350102878 4

Question Number : 136 Question Id : 64635026466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II

(a) 0-6 month infant (1) 75

(b) Moderately active adult male (1) 118

(¢) 16—17 year old boy (i) 82

(dy Child 4-6 years (av) 35

(e) Infant 6-12 months v) 92
(vi) 55
(vi1) 25

Chose the most appropriate option :

L. (a)-(); (D)~(v1); (c)-(u); (d)-(v}); (e)-(vi1)

2. (@) (B)-av); (e)+vD); (d)-@); (e)-(11)

3. (a)-(v); (b)-Qm); (¢)—(1); (d)—(v1); (£)-(v)

4. (a)-(ui); (b)—~(vit); (0)-(1v); (d)—~(v); (e)11)
Options:

6453501028739, 1
6453501023880, 2
645350103881, 5
EAEZS01038582. 4

Question Number : 136 Question Id : 64635026466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) 4-6 FuTT IEH (v) 35
(e) 6-12HEHRY v) 92
(vi) 55
(vii) 25
Halde® Iuged [Aeed &1 99 HIfo :

. ()-(i); (b)~(vi); (e)-(ii); (d)iv); (e)—(vii)
2. (@), ()-v); (e)—(vi); (d)-1); (e)-ii)
3. (a)-(vi); (b)—(iin); (¢)-); (d)—~(vi); (e)-(iv)
4. (@), (b)—~(vid); (¢)-av); (d)—~v); (£)1)

Options:

E4E350102879 1
45350102820 2
645350102881 5
645350102882 4
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Match List—I with List—II :

List-I List-II
(a) Food allergy (1) Heavy metal
(b} Food poisoning (11)  Trchinella
(¢c) Food spoilage (i)  Aflatoxin
(d) Food infection (1v)  Curdled mlk
(e) Food contamination (v)  Metanl yellow

(vi) Hepatitis A
(vil) Botulism

(vii) Tree nut

Chose the most appropriate option :

1. (a)-); (b)-(v1); (e)1); (d)—{v); (e){vii1)
2. (a)(v); (b)-(ii); (c)-(i); (d)—~(viii); (e)-Gv)
3. (a)y-(vii); (b)—(vii), (c)-(1v), (d)+vi); (e)-(1)
4. (a)-(n); (b)-(1); (e)-(0); (d)—(v1); (e)Hv)

Options:

646350103883, 1

646350103884, 2

646350103885, 3

546350103886, 4

Question Number : 137 Question 1d : 64635026467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



-1 et-11

(a) s Udsl (i) gdiocd
(b) Yo fasTadan (i) R
(¢) gftd e (i)  THAEIRE
(d) TS THaEA (iv) oo e
(e) Wgftd HISH (v) fRTade

(vi) gucrsfiew A
(vil)  SigferH
(viii) e

Haitie IUged f[amed &1 99+ BTl ;

(a)~(1v); (b)—(vi); ()~D); (d)~(v); (e)~{(viii)

(a)—(v); (b){iii); (c)(ii); (d)(viii); (e)(iv)

3. (a)(viii); (b)—(vii); (¢)-(iv); (d)—(vi); ()-()

4. (a)-(u); (b)-(); (c)-(1); (d)—(v1); (e)~HVv)

[—

b

Options:

648350102882 1
45350102824 2
645350102885 o
645350102886, 4

Question Number : 138 Question Id : 64635026468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I wath List—II :

List—I List-II
(a) Antistatic (1) Provides lustre
(b) Water repellent (1)  Environmental protection
(¢) Slip resistance (111)  Creates texture
(d) Gigging (1iv)  Alters durability

(v)  Protective finish

(vi)  Provides comfort and safety

Choose the most suitable option :
1. (a)-Q); (b)-u); (o)), (d)-111)
2. (a-(); (0)-(v); (0)~1w); (d)-(11)
3. (a(ui); (D)-Qv); (e}v); (d)—(v1)
4. (a)-1);, ()-i); (©)—(v); (d—(vi)

Options:

645350102887 1
645350102888 2
645350102889 2
645350102390 4

Question Number : 138 Question 1d : 64635026468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 -1
(a) wWfem (i) T IHS AT

(b) dEIIWE (i)  vafavuitg Geermr
(c) fouioRey (ii)  &ac &1 A gar g
(dy fafm (iv) feHrsu= & acad adrg

(v)  Seures e
(vi) 399 AR 3R GRef 3 g

aTi® Iugad f[AdHed B 997 BIoTT ;
L (a)-); (B)(i); (e)v); (d)iii)
2. (@Hvi); (B)v); (Hwv); (d)—(ii)
3. (a)-(u); (b)-(v); ()—(v); (d)—(vi)
4. (i), (D1w); ©—(v); (d)—(vi)

Options:

48350102887 1
45350102888 2
645350102889
645350102890 4

Question Number : 139 Question Id : 64635026469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List=I wath List—II :

List-1 List-I
(a) Billiard cloth (1) Interlining
(b) Burlap (1)  Towels
(¢) Chinasilk (i11) Bagging
(d) Huck (iv)  Lingerne

(v)  Table covering

Choose the most suitable option :
1. (@) (b)u); (e)~iv); (d)m)
2. (@)(v); (b)-(1); (c)—(in); (d)—-(1v)
3. (@)(v); (b)), (e)-(av); (d)-()
4. (@)(v); (b)-1); ()-(ir); (d)—(1m)

Options:

645350102891, 1
6453501032892 2
45350102892 =
645350102894 4

Question Number : 139 Question Id : 64635026469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TH1-1 B -1 gHfed Sifere :
-1 Het-11

(a) fafero ofver (i)  geaEET
(b) Y @R Gi) e
(c) == Nem (it)) e Fmfor
d & (iv) o=
(v) ooy
Haiia® Iuged [Aeed &1 997 HIfe :

L (a)-@) (B-1); (¢)-v); (d)-(m1)
2. (a(v); (0)-(1); (e)-(ut); (d)iv)
3. (a(v); (b)-(n); ()-(av); (d)-(1i)
4. (@-(v); (0)-); (e)-(n); (d)11)

Options:

6453501035831, 1

64E350103892. 2

645350103893, 3
E4EZ50103594. 4

Question Number : 140 Question Id : 64635026470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List—I List-II
(a) Classical management theory (1) New man
(b) Human relations theory (1)  Simon

(¢) Neo-classical management theory  (i1) Max Weber
(dy Modern management theory (iv)  Edgar Henry Schein
(e) Decision theory (v)  McGregor

(vi) P. R. Lawrence

Select the most appropriate option :

(a)—(ii1); (b)—(1v); (0)~(v); (d)—(vi); (e)1i)
(a)-(@); (b)—(1i); ()(1i1); (d)-av); (e)V)
3. (@-); (b)(t); (o)1) (d—(vi); (e)-1v)
4. (@-(vi); (B)—(v); (0)(iid); (A1), (e)-(ii)

Options:

6453501025895 1
48350102896 2
45350102897 =2
645350102898 4

[

o

Question Number : 140 Question Id : 64635026470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 Bt gEI-11 GAferd S :

(a) TS veYs Rga i g

(b) HFE gey Rygid (i) HRHT

(c) Ta-seriyed Yy Rigid (i) AeEaAR

(d) onyR® v Rigia (iv) s e R

(e) fruia Rrsia (v) HeUR

(viy R @RS

aiie Iuged faded g :

1. (@)Gid);, (b)-Av); (e)~(v); (d)-(vi); (e)(ii)

2. (a)-); (b)), (e)—(u); (d)-av); (e)-v)
(a)-(11); (b)—(i1); (¢)-(1); (d)—=(vi); (e)-(iv)
4. (a)-(w); (b)—v); (e)-{1i1); (d)—(1); (e)-(11)

=

Options:

6483501023895 1
45350102898 2
645350102897, 5
645350102898 4

Question Number : 141 Question Id : 64635026471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List-I
(a) Soft floor (1) Rubber flooring
(b) Rug (i)  Area rug
(¢} Hard floor (1)  Carpet
(d) Sound proof (1v)  Marble

(v)  Wooden flooring

Select the most appropriate option.
1. (a)-(u); (b)-(); ()-(v); (D)-()
2. (@-); ®dHib; (©-Gv); (V)
3. (a)-); (b)-1); (e)-(u); (d)-(v)
4. (a)—~(v); (b)—(u1); (¢)-1); (d)—1)

Options:

6453501025899 1
648350102900, 2
45350102901, =2
645350102902 4

Question Number : 141 Question Id : 64635026471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 -1

(a) WaEH B (1) TS wee

(b)y T i) AT

() T=HIHY (i) ST

d @ ad (iv) w@a S e
TEY IUged [deed &1 997 HIfold ;

L. (a)(u); (b)-); (c)-av); (A1)
2. (a-); (b)-(in); (¢)-Gv); (d)~(v)
3. (a-Q); (b)-1); (e)-i); (d)-{v)
4. (@w); (b)-Gu); (¢)-); ()

Options:

648350102899 1
45350102900, 2
645350102901, 5
645350102902 4

Question Number : 142 Question Id : 64635026472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-1 List-II
(a) Article 21A (1) Employment of children
(b) Article 23 (11)  Free and compulsory education
(¢) Article 24 (111)  Prohibition of traffic in human
beings
(d) Article 45 (iv) Early childhood care and
education

(v)  Raising standard of living

Select the most appropriate option :
1. (a)y-(u); (B—u); (0)-@); (d)-av)
2. (a)y-(1); (D—u); (-®); (V)
3. (a)-@); (b)HW); (0)-(1n); (D)—(v)
4. (a)-(i); (0)—1); (e)-(iii); (d)-(v)

Options:

648350102902 1
45350102904 2
645350102905
645350102906 4

Question Number : 142 Question Id : 64635026472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et I Gal-11 GAferd SHifog -
-1 -1

() SMF®T21A (i) = B IR

(b) 3FT=T 23 (i) Y ud R Ruen

(€) orT=T24 (i) WY AR wfRy

(d) g 45 (iv) SIeaa=l oE-3E U4 e

(v) o9 TR &1 3994

Al Iugad fAemed &1 997 Sy ;
L. (a)-w); ()ii); (e)~1); (d)-Gv)
2. (&) (b)-(i); ()—~1); (D)
3. (-, @) (o) (d)-(v)
4. (a)-(); (b)1); ()—(i1); (d)-(v)

Options:

645350102902 1
645350102904 2
645350102905 =
645350102906, 4

Question Number : 143 Question 1d : 64635026473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—I List-1
(a) Infancy (1) Mitosis
(b) Preschool years (11)  Object permanence
(¢} Middle childhood (1)  Centration
(d) Adolescence (iv)  Concrete operations

(V) Psychosocial moratorium

Select the most suitable option.
1. (a)-(u); (b)—m); (c)-v); (d)—(v)
2. (a)-Q); (b)—(u); (c)-v); (D)
3. (a)y-(); (b)), (e)-1); (V)
4. (@) (b)1i1); (—1v); (DD

Options:

645350103907 1
45350102908 2
645350102909 5
645350102910 4

Question Number : 143 Question Id : 64635026473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 -1

() 2wa 1) R

(b) w-Fpagy (i) sifesee WAMY
(c) W ST (i) He=H

(d) foIRmE= (iv) Wi TR

(v) RS aRd AR

Taiii® Iuged famed &1 90 BioT ;
L (@) (b)-au); (©)-wv); (d)v)
2. (@1 (Di); (e)~(iv); (V)
3. (@), (B)-Gv); (e)-); (D~V)
4. (@), (b)—(ii); (©-(v); (DD

Options:

645350102907 1
648350102908 2
45350102909 =2
645350102910, 4

Question Number : 144 Question Id : 64635026474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List=I with List=II :

List—I ListI
(a) Enculturation (1) Fixed notions about cultures
(b) Ethnocentricism (1)  Process of learming about
other cultures
(c) Stereotyping (1)  Transmission of family values
(d) Acculturation (1v)  Undermuining other cultures

(v)  Eulogizing other cultures

Select the most appropriate option :
L (a)-Gv); (b)—~(v); ()—(i); (d)-(1)
2. (a)-ii); (b)-(v); (e)-@); (d)—(ii)
3. (@), ()~v); (-0, (DHiv)
4. (@-v); (b)-(v); ((i); (d)—(i1)

Options:

645350103911 1
45350102912 2
645350102912 5
645350102914 4

Question Number : 144 Question Id : 64635026474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 D1 Gei-11 GHfed ST :

- 11
(a) THA-TET @FHeT) (i) Ipid® IR Fgg yron

(b) THenfadsarg (FEEReE) (ii) ?‘qgﬁﬁ$aﬁﬁm

(©) wieusuar (st (il  OrfaTfee et @1 By
(d) TWRESA-TEU (UHea=) (iv)  rT Tpiadt BT I0em BT
(V) T Hpfadl B! 9e ST

At IUged e ey H1 99+ B ;

(a)—(iv); (b)~(v); (c){iii); (d)—(1)
2. (@), (b)-v); (e)-1); (d)i1)
3. (a)Hi); (b)—Hv); (e)-(1); (d)—-(v)
4. (a)iv); (b)—(v); (c)ii); (d)—(iii)

Options:

452501029111

C4ds2E0103912 2

645350103913 3
E4E3501035914. 4

i

Question Number : 145 Question Id : 64635026475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List-II
(a) WHO (1) Protection of displaced people
(b) FAO (11)  Protection of children
(¢) UNESCO (i11)  Public health
(d) UNHCR (iv)  Preservation of World Cultural
Herntage
(¢) UNICEF (v)  Protection of women

(vi)  Protection of hunger

Chose the most appropriate option :
1. (a)-(u); (b-Q); (0)v); (d—(v); (e)-1)
2. (a-(m); (b-(v); (e)-av); (d)-(v1); (e)-11)
3. (aan); (b-(vi); (e)-Qv); (d)—1); (e)-()
4. (a)yiii);, (b)-v); (e)-(vi); (d—v); (e)(ii)

Options:

645350102915 1
645350102916 2
645350102917 2
645350102918 4

Question Number : 145 Question 1d : 64635026475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 @1 G-I FAferd Pifore :
-1 -1

(a) T&g I3 1)  fowuifta ar &1 Sveo
(b) TP Q3. (i) &I T&for
© Fr=! (i) e T=a
(d) 9 uq.ug 9l e (iv) Ay wiplde faa o
UiRer
(&) TFHu® (v)  wfgarsit o e
(vi)  &JUT-HIm
AT IUged [Aeed H1 99+ HIfoi ;
L. (@)iii); (b)-(1); (c)iv); (d(v); (e)-ii)

2. (a)-(uD); (b)~(v); (¢)-(av); (d)—(vi); (e)iL)
3. (a)-(ui); (b)—~(vi); (e)-(v); (d)—(); (e)—(i)
4. (a)-(u); (b)-(v); (c)=(v1); ()—(v); (e)-{11)

Options:

645350102915 1
6453501032916 2
45350102917 =2
645350102913 4

Question Number : 146 Question Id : 64635026476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Jananm Suraksha Yojana (JSY) 1s one of the flagship components of the National Rural
Health Mission, and the key strategy to enable women to access institutional deliveries and
thereby effect reduction in maternal mortality. The rationale is that institutional deliveries
would help the pregnant women access a team of skilled birth attendants more reliably and it
would also improve her access to emergency obstetric care and this in turn would lead to

reduced maternal and neonatal mortality.

The cove strategies envisaged to realize the objective include access to health care at
household level through local women in age group of 25-40 years known as ASHA. As per
National Guidelines, all pregnant women in rural areas who deliver in a health facility are
eligible for cash transfers. The amount is given at or immediately after the delivery and is
meant to defray the expenses—both visible (drugs, supplies, transport) and invisible cost
(cost of accompanying attendant, informal gifts/fee to hospital staff, cost of food).

Options:

645350102919 1
645350102920 2
645350102921 =
48350102922 4

Question Number : 146 Question 1d : 64635026476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST GR&M TISHT (. TH. a1%) P M @R A= & el ueoel § 9 0 B & 9Y-9Y
Higei & TR vgia 31 gRy g e § 99 59 Bt ger I0E € SR 398 haeey
g 7 X ¥ FH o 31 59 9 96 9% ¢ o TRe v & wawewy madt At @i
FRE Tfd UER HRIHE ©9 8 IUasy g SR 599 S SUTaelied T e 5- e i
3R 31 gau B ST 3R 39 BeRawy HIg 3R Faoid g & Jagex & St e

39 I I Uiy & forg uivesfeud Aewayel Trifaal & 25 9 40 a9 & -3 &t WK Argansi
& Aoy 9§ TeRll TR W W O3 @) giaw Iuds ST MiEd 8 O e ) g € ot
B Pt femfey & ergaR arior &t # wgmard gt miadt afiten |t Sudsy area giaw @1
TUHIT T2 = S 5 2dl §, 3 T AW & o e €1 98 @ v & 9T Siya vid &
JepTd 91 foan orar € S =gEE (3nsfy oy, uftaes) iR ol e (WE uReR @ &,
AT HHI I [GT T IR/, HITH TR THare o9d) TR T H3 & (g grdl ¢

Options:
422350103919, 1



EAEZ50103320. 2
6453501035921, 2
6453501035922 4

Sub-Section Number: 2
Sub-Section 1d: 6463501298
Question Shuffling Allowed : Yes

Question Id : 64635026477 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (147 to 150)
Juestion Label - Comprehension

Match List—I with List—II :

List-I List-I1
(a) Physical (1) Co-acting dyads
(b) Physiological (11)  Hearnng impairment
(¢)  Psychological (i1}  Screeching of cars
(d) Semantic (iv)  Differences in meanings
assigned

(v)  Biases and Prejudices

Select the most appropriate code :
L. (a)-(m); (b)-(1); (c)~(v); (D)—1v)
2. (a)-(u); (b)-(Gu); (c)-(v); (D)—1)
3. (@-a); ), (0-0); (d-(v)
4. (a)-(v); o)1) (e)-ii); (D)D)
Sub questions

Question Number : 147 Question 1d : 64635026478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the role of ASHA?
1.  Access to health care of pregnant women at household level
2. To provide cash transfers
3.  To provide antenatal care

4. To provide supplementary care

Options:

648350102922 1
45350102924 2
645350102925
645350102926 4

Question Number : 148 Question Id : 64635026479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Cash transfers to women in JSY are to cover which of the following visible costs during
delivery?

ot

Cost of accompanying attendant

2. Drugs supply
3.  Fee to hospital staff

4.  Cost of food
Options:
646350103927 1
646350103928, 2
646350103929, 3
£46350103930. 4

Question Number : 149 Question Id : 64635026480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the components of JSY :
(a) To encourage hospital deliveries
(b) Improved access to obstetric care
(c) Cash transfer
(d)  Toencourage home delivenes

Select the most appropriate option :
L () (e) (d)
2. ()@
3. (a);(b) (0
4. (@) (c)(d

Options:

645350102931 1
6453501032932 2
45350102922 =2
645350102924 4

Question Number : 150 Question Id : 64635026481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are the rationale of providing care to pregnant women under JSY?
(@) Access to institutional deliveries
(b} To reduce material mortality
(c) To reduce neo-natal mortality

(d) To provide cash benefit before delivery
Select the most appropriate option :
L. (a);(b);(d)
2. (a)(ek(d
3. (B, ()@
4. (a), () ()

Options:

6453501035935 1
453501029328 2
645350102927 5
645350102928 4

Question Id : 64635026477 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (147 to 150)
Cesticn Label | Comprehiension



(a) IRIR® (i) g frares gm

(b) IR farFs (i)  saur =2

(c) FHATIS (i) PR P T P HHY A
(d) orfawto (iv) fagadd R

(v)  Oeud 3R XIE

Tai® IUged [Aded B 99 HIorT ;
1. (aHu); (0)-); ()—~(v); (d)-v)
2. (&), (b)~1t); (¢)—~(1v); (d-(1)
3. (a)-(iD); (V) (0)-(); (d)—1v)
4. (a)-(iv); (b)-(i); (e)-(ii); (1)
Sub questions

Question Number : 147 Question Id : 64635026478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3T 1 T Y AT &7
1. ToRi 'R W Tl Aigans @ @R ¢E-3E S Ayl Iuds S

2. T Hdd Iudes] HYA]

3. U949 Ud ¢E-3E I giayT Judsd HIF]

4. TS E-T@ AU Ia HIAT

Options:

645350102922 1
645350102924 2
645350102925 =
6453501032926 4

Question Number : 148 Question 1d : 64635026479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

S GR&T TS & 3farid Ul & SR Aigaiel &1 faia $1 & arl Tee 4RI H
frofefad § 9 o19-3 exaus T =g e 27

1. 9g-uReR W 3 aren &d
2. 39 Bt 3mgfd

3. WA HHl B e Yo
4. HioF R ey

Options:
45350103927, 1

EAEZ50103928. 2
6453501035929, 2
6453501035930 4

Question Number : 149 Question 1d : 64635026480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S R AT & U 3 &
(a)  3FUdE H vl B S &
b v oE-XE g9t IFa gy

(c)  Pg U
(d) -V P Sgrar &
Haifie Iuged faeme o1 99+ Sifo ;

L. (), (), (d)

2. (a),(b),(d)

3. (a),(b),(c)

4. (a), (¢), (d)
Options:

E4E350103531. 1
E45350103593Z2. 2



EAE350103933. 2
E45350103534. 4

Question Number : 150 Question Id : 64635026481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S RET AT & ST THE AReell B TE-YE A vem $3 & U |1 a7
()  SRTHS 7o A Iuasd S

(b) A HI-<I H HH G
(c)  Tauid g 7g-gI H HHI aF

(d) UYE 9 Ugd Aha giaHm Iudsd SHI

At ITgad fAsmed HT 9a- Hiord :
1. (a), (b), 3R (d)
2. (@), (), 3R (d)
3. (b, (c), 3R (@)

4. (@), (b), 3R (c)

Options:

6453501035935 1
483501029326 2
45350102927 2
645350102928 4



